E #F x B %
R = FTE Eh A AERA [BiA] (Efz: @)
AT 20224F 331 H HfE

(& FEDER)
[Vidha ]
(R4 - 1HA)
B & 71,031
ol TR 2,121,975
B4 - RS E 2,193, 006
(52 L1&#E)
K O & 3, 904, 228
7o L& Gt 3,904, 228
RENE PES 6,097, 234
[[EEEE]
(BEEEE)
L A A 4,121, 371
188 fHdh 364, 050
BREEEE &t 4, 485, 421
[ & PEA R 4, 485, 421
BrEART 10, 582, 655
(BEDHE)

[Eh&fE]
x H & 161, 596
S A4 1, 500, 000
HOL & 148, 821
TN AE SR 1,810,417
[EEAE]
EME A4 5, 850, 000
EEAEAE 5, 850, 000
AfEEd 7,660, 417
(IERRRA PE DFL)
FIT 3 il 1 ke B A 1,374,227
24 H T A A R A 4, 296, 465
ERRPES B 2,922, 238

F1E K OVIEMR A PE A 5 10, 582, 655




